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Unit 3 Test Review

I Convert each degree measure to radian measure.

1. 1500 2. 2100 3. 450 4. 2400
s T T Ny
z o el 3
II. Convert each radian measure to degree measure.
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11l In which quadrant, or on which axis, does the terminal side of the each angle lie? Draw the angle in standard
position.
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1V, Find the coterminal angle between 0° and 360° or 0 and 2 for the following measures. What quadrant does the
terminal side lie in? Give the reference angle for the given angle.
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V. A point on the terminal side of angle 0 is given. Find the exact value of each of the six trig functions of 0
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VI. Arc Length and Area of a Sector ** Remember; angle must be in radian measure!
29. Find the length of an arc of a circle of radius 8 m if the arc subtends a central angle of 1 radian.
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30. Find the measure of a central angle 0 (in degrees) in a circle of radius 5 ft if the angle is subtended by an arc of
length 7 ft.
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31. A circular arc of length 100 ft subtends a central angle 0f_’7__(_)_O . Find the radius of the circle.
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32. Find the area of a sector with central angle 52 ° in a circle of radius 200 ft.
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33. A sector in a circle of radius 25 ft has an area of 125 ft” . Find the central angle of the sector in radians.
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VIL Find the exact values of the following.

34.sin (315°) 35. cot (-135°) 36.csc () 37. cos(— ZF)
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VIIL Find the value of the SIX trigonometric functions of 0 from the information given.
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43.1f cos 8 = 2/5, and sin 8 < 0, find the remaining trig functions.
sin 6 = - ¢sc 6= -5
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IX Linear and Angular Speed fan@ ~ cot 8 = -
44. A phonograph record has a radius of 3 inches and revolves at 45 rpm. Find the linear speed of the outside edge
of the record in inches per second. 5q0% = ©
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45. The propeller of an airplane has a radius of 3 ft. The propeller is rotating at ZZT’O' revolutions per minute. Find

the linear (in feet per second) and angular speed (in radians per second) of the tip|of the propeller.
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st human on a bicycle was John Howard, who achieved an incredible speed of 152. 3 mph in 198
tlres on John’s bic a diameter of 30 inches and turn at rate of 141 revolutions per
what is the bicycle’s speed in mp

44



X State the midline, amplitude, period, and phase shift.
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Midline: 3’=-| Amplitude: __ & Midline: ¥=‘1 Amplitude: __ 3

Period: _2.u Phase shift: nowt Period: A Phase shift: nowne



